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#EFINSTRUCTIONS %%
Calculators not allowed.
Logarithm table is not to be used.
4 marks will be awarded for each correct answer and 1 mark will be deducted for each wrong answer.
(E)***indicates “none of the above”.

49 19
1. TS 2 4 i 1922 X100~ 2
TSR 50720

Which of the following integers is closest to 19%XIOO% ?

A. 2017 B. 2018 C. 2019 D. 2020 E.

2. 4B 1B, S KHM ABCD @K 96, S H | H ¢
& DCL, & EA F53l2 BCA AD % &, AE
5 BFAX T4 G, K AHBG #9 @42, F

Given that the area of the rectangle ABCD (as shown in G
Figure 1) is 96, H is on DC, E and F are midpoints of A | 1 B
BC and AD respectively, AE and BF intersect at G, find Figure 1

the area of AHBG.

A. 24 B. 28 C. 32 D. 36 E. ok

3. L5 590A9 RAT AT E, KAZAE

Given that the 5-digit number 590A9 is a perfect square, find the value of A.
A. 8 B. 6 C. 4 D. 2 E. O

4. Fa5bHA3EHK, Ha>b>0, £Fa’~-b*+a-b=2018, Ma=
If a and b are both 3-digit integers and a > b > 0, such that a*—b*+a—-b=2018, then a=
A. 503 B. 505 C. 507 D. 509 E. Gk



10.

4 (981)(1001)(1021)

893 K B &Ko
(070 (99)(1011) &

(98!)(100!)(102!)
(971)(99!)(101!) -
A5 B. 7 C. 17 D. 19 E. ¥

Find the greatest prime factor of

E n NESEHNGFA 2018, K n BR Kfh.
Suppose that the sum of n consecutive integers is 2018. Find the largest value of n.

A 4 B. 1009 C. 2018 D. 4036 E.

CHra, =1 ZEI a,,a,,a;, Ay B n A FALEA no K ay,, WAMZEL

Given that a, =1 and the median for the first n terms of the sequence a,,a,,a,, -,y 15 n.
Find the last digit of a,, .

Al B. 3 C.5 D. 7 E. ok

FH AR —AREERE, FL8/IH; RBAEF TN,

AF¥EE iz 2 b5, B k#Fle, MASET x4, AMBEFT. ZEBAT3
MR AR T T, K x ZAh.
(HAVBIZR A, B IEFXERT)

Suppose A paints a particular wall alone, he needs 8 hours; whereas B needs 7 hours. A starts

the job alone for 2 hours, then B helps him. They cooperate for x minutes before A leave. The
remainder job is completed by B, using 3 hour. Find the value of x .

(We assume that the work efficiencies of A and B do not change)

A. 63 B. 65 C. 72 D. 84 E. %%

4 (x,y,2)=(1,55 REFXx+y+z=118EF—HEFHM, 25N x+y+z=11
— &A%V E IR E?

It is known that (x,y,z)=(1,5,5) is one of the positive odd integer solutions for the equation
x+y+z=11. How many positive odd integer solutions for the equation x+y+z=11

altogether?
A. 12 B. 15 C. 17 D. 18 E. *¥%*

H2eEMER S ANZAF?
How many triangles are there in the Figure 2?
A. 12 B. 16 C. 18 A" 2

D. 20 E. #%% Figure 2




11.

12.

13.

14.

15.

16.

17.

4K 3, AB=AC=AD®% Z/ABC=71°., K ZCDB »
As shown in Figure 3, AB=AC=AD, ZABC =71°.Find

ZCDB.
A. 161°
D. 164°

B. 162°

E. ®%*

C.

163°

VAT IRAN 5 20 3 A 2201848 5 49 B AN

Which of the following number have the same number of factors as 2018 have?

A5

B. 6

C

T

D. 9

% (-502)+(-501) +(=500) +---+(n—1)+(n)=2018, £ n XAk,

If (—502)+(=501)+(~500) +--

A. 505

B. 506

K 201878 ey ANz & o

Find the last digit of 2018>'®.

A2

Fe 1234 2 4321 28], A% S AR 18 49440

B. 4

C

. 507

D. 508

How many multiples of 18 are there between 1234 to 4321?

A. 170

B. 171

Jxx+x+ 2018 =2018 A L/ A8 S a5 92 AR
How many distinct real solutions does \/ x+4/x++x+2018 =2018 has?

A 0O

EHa>1 &

Given that a>1 and

A, 242

B. 1

1 1

+
log,2a log,4a

1

C

C

+
log,2a log,4a

B. \2

. 172

D. 173

.2

=1, KazAi.

D. 3

=1, find the value of a.

C.

o2

D. V2"

K3
Figure 3

E.

+(n —1) +(n) =2018, find the value of n.
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18. *

If

/2018%/2018 ="%/2018", ('/% ="2018 , Kn ZAh.

/201
018 ="/2018’ , find the value of n.

22018%/2018 ="%/2018",
12018

A7 B. 8 C. 9 D. 10 E. ¥k
19, R1P+2°+3 +--+2017° + 2018 12 A9 A HK o
Find the remainder when 17> +2° +3° +---4+2017> +2018” is divided by 9.
E' kskek

A8

B. 7 C. 6 D. 5

2 2
x”+3xy+10y 2k,

20. FEHExAyHALx—y-2Jxy=0, £
) - Y Y X +2xy+9y°

Given that x — y—2,/xy =0 for some real numbers x and y, find the value of

21.

22.

23.

22 +3xy+10y°

A2 B,
2

x*+2xy+9y°
. ke

CH B A= AMABCH F] K H46 cm, #H4KA20cm, Kk =AHABCH @R,
Given that ABC is a right angled triangle with a perimeter of 46 cm and hypotenuse of 20 cm,

find the area of triangle ABC.

A. 59 cm? B. 60 cm? C. 65cm? D. 69 cm? E. ***
1 1 1 1
110 + + oot =
[22—1 -1 4°-1 102—1)
A. 72 B. 73 C. 75 D. 80 E. #%*

Ep, qFrAmE, BHpgr=11(p+q+r), Kp+qg+r 9,

If p, g ad r are primes with pgr=11(p+ ¢+ r), find the smallest value of p+gq+r.

A. 20 B. 21 C. 24 D. 26 E. ok



24.

25.

26.

27.

28.

FaRkbRAERALC+b =46 Fa'+b' =2018. K (a+b) W& IMh,

If a and b are real numbers such that a* +b* =46 and a* +b* =2018, what is the least possible

value of (a+b)"?

A. 60 B. 50 C. 32 D.

4o 4, ABCD RASETR), R EAFREEGTHE, {22
BEF # %1 = f#. K DE:EC 8k
As shown in Figure 4, ABCD is a square, points E and F are on

the square so that the triangle BEF' is equilateral. Find the ratio
DE: EC

14
A. ? B. \/g

D. 2

C. 3+1

E. w%x

42 5, ABCD RANEF o B EREFHHAAB R
BCH¥ &, C4E GA DER AF 948 &, K CG,

As shown in Figure 5, ABCD is a square. The point E and
F is the mid-point of AB and BC respectively. G is the

intersection point of DE and AF'. Find CG.
A. 101 C. 455

D. 70v2 E.

B. 100

40 B6, EDAE%KBACL, 2% L/CAB=/2CBD . %
BC=36 %CD=24, KAD.
As shown in Figure 6, D is on AC such that

ZCAB=ZCBD.If BC=36 and CD =24, find AD.
A. 27 B. 28 C. 30

D. 32 E.

4o 7, AAFFELAN. FO0A=24, K BC,

As shown in Figure 7, the two shaded semicircles touch

each other. If OA =24, find BC.
A. 15 B. 16 C. 18

D. 20 E.

E. ek
E
= c
F
A B
K 4
Figure 4
A £ B
G
1
00 7
D C
A5
Figure 5
C
24
D 36
B
K6
Figure 6
B

7
Figure 7



29.

30.

31.

32.

33.

34.

CFedle K aabb = —ANTRA2F T, Kazfh
Given that the 4-digit number aabb is a perfect square, find the value of a.

A. 6 B. 7 C. 8 D. 9 E. ®%*
VAT RAS x* +1 — 69 H 52

Which of the following is a factor of x*+1?

A x+1 B. xX*+1 C. x*+1 D. x> —2x+1 E. #%*

K

x=20[+|x +18 89 3% M.
Find the minimum value of |x - 20| + |x+ 18| .

A2 B. 36 C. 38 D. 40 E. ok

Cam =N ABC WA Ky A EEH, B DE%
B AD t4£%) /CBD=/ABD . % AD=6%
DC =8, K AB #& K&,

Given that the triangle ABC (as shown in Figure 8)
has integer side lengths, D is on AC such that
ZCBD =/ZABD . If AD=6 and DC =8, find the A 8

largest possible value of AB. Figure 8

A. 38 B. 39 C. 40 D. 41 E. %%

€ % 7 x abcdef =5x fabcde , K d18.

Given that 7xabcdef =5X fabcde , find the value of d.
A. 6 B. 5 C. 4 D. 3 E. *%*

42 9, ABCD R/NEFHH, AKA 8 =& E = F A2
BCA CD# ¥ 5. H—RE AW T AECF. KizRAF1i2, Il

As shown in Figure 9, ABCD is a square of side length 8. E and \
F are midpoints of BC and CD respectively. There is a circle
inscribed in AECF'. Find the radius of this circle.

A 245-2 B 2L C. 243-1 A
2 "9

D. 541 E. ##x Figure 9
4



35. FHa>b>0, Ka+ & R ME

2
(a—Db)b

If a >b >0, find the minimum value of a +

(a=b)b
A. 232 B. 332 C. 233 D. 4 E. *%%
~~~~~~~~~~ % END ~~~mmmm e



